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Addition & Subtraction - 4 

1. Subtract the sum of 5405 and 3976 from the sum of 4835 and 6765. 

a) 2128    b) 2229 

c) 2219    d) None of these 

 

2. Subtract the difference of 26407 and 15847 from the sum of 24625 and 13637. 

a) 27702    b) 27207 

c) 22770    d) None of these 

 

3. 5928 – 2367 + 924 – 3809 = ______________ 

a)  767     b) 676 

c) 567     d) None of these 

 

4. 24603 – 12899 – 3071 + 5824 = ______________ 

a) 14457     b) 15457 

c) 15557     d) 13457 

 

5. A bookstore has 29650 books. 5359 books were sold on the first day and 6507 books were 

sold on the second day. How many books were left in the bookstore? 

a) 17684     b) 16784 

c) 17748     d) 17784 

 

6. In a stockyard there are 26800 bags of sugar. On the first day 3754 bags were sold, on the 

second day 2429 bags were sold and on the third day 4095 bags were sold. How many sugar 

bags are present in the stockyard now? 

a) 16522     b) 15522 

c) 16532     d) None of theses 
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7. Subtract 9999 from the sum of 3947, 5469 and 6314. 

a) 13731     b) 14731 

c) 14732     d) None of these 

 

8. Bob has 2756 cement bags. He gave 675 cement bags to John and 465 to Bill. How many 

cement bags will remain with Bob? 

a) 2616     b) 1616 

c) 1716     d) None of these 

 

9. 6752 persons bought zoo tickets from counter 1 and 8978 persons from counter 2 to see the 

zoo. Only 12679 persons came to see the zoo. How many persons did not come? 

a)  3052     b) 2015 

c) 3015     d) 3051 

 

10. In a college, there were 4575 students in the beginning of the year. 455 new students took 

admission and 278 students left the college during the year. Find out the number of students at 

the end of the year. 

a)  4572     b) 4275 

c) 4527     d) 4752 

    

 

 


